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A Read the following text and answer the questions below in English.
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Questions:
1. In the model of conversational interactions offered above (floor, turn-taking, local
management system, Transference Relevance Place), which part would you say is

most important and why?

2. Of the two interactions, silence and overlap, which is presented by the author as

more problematic and why?
3. Under what conditions can overlap sometimes be perceived as good?

4. What is an attributable silence?
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B: Read the following text and answer the questions below in English.

B RESCIZ DO W T,
EZEHEOBERI SHBHENEZL 8 A,




2 0 1 9FERZEHRICH SRS AR LSRR A SR RS

No. 575
pars ge 2 = % B H
iR Evs! 3

MEIZ DWW T,
EZIEHEDEBRN S HBENWZL EH A, .

Questions:
1. What does the author conclude about the results of the Long Term Memory test?

2. What is the possible correlation between writing and the onset of Alzheimer’s

disease?

3. What conclusion can we make about Japanese A.D. patients and the relative

difficulty of using kansiand kana in writing?

4. What is an ‘anecdotal overgeneralization’? Explain it with a concrete example.



